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Identifying Y Intercept (Tables) Name:
Identify the Y intercept for each table. Answers
DIx]y 2 [ x | v 3 [ x| v
1.
-6 | 6 -10 | -8 -6 | -17
4| -4 3|5 4] -9 ,
6 | -6 5 7 2 -1 '
7 | -7 9 11 4 23
8 | -8 10 | 12 6 | 31 3
4,
5,
Y 1x| v 5 [ x| v 6) [ x| v
6.
-8 | -56 -9 1 -90 919
4 | -28 -4 | -40 7|7 ,
-3 | -21 3 30 31 3 '
2 14 5 50 31]-3
6 | 42 9 | 90 5| -5 8
9,
10.
N 1lx| v 8 [ x | v 9 x| v
11.
-7 | -56 -10 | -60 -4 | -11
-6 | -48 -8 | -48 3| -6 »
1] -8 4 | 24 2] -1 '
4 32 -1 -6 8 49
7 56 10 60 9 54
10) X v 11) X Y 12) X Y
-7 | -36 -5 1 -270 -7 | -14
-6 | -32 5 270 -6 | -13
4| -24 7 | 378 3| -4
1 -4 8 432 6 -1
4 8 9 486 8 1
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Identifying Y Intercept (Tables) Name: Answer Key
Identify the Y intercept for each table. Answers
D | x 21 x|y x| v
1 0
6| 6 -10 | -8 -6 | -17
4 | -4 3|5 4| -9 5
2
6 | -6 5 7 2 -1
7 | -7 9 11 4 | 23
3 o/
8 | -8 10 | 12 6 | 31
Y =7xX-(Xx8) Y=X+2 Y =4xX+7 0
4
5 0]
Y1 x| v x| vy 6 | x|y . 0
-8 | -56 -9 | -90 919
-4 | -28 -4 | -40 7|7 0
7
3| -21 3|30 3| 3
2 14 51 50 3| -3 0
8
6 | 42 9| 90 51]-5
Y =6xX-(X x-1) Y =2xX+(X x8) Y=-X 9
9
10, -8
Nlx]| vy 8 | x| v 9 Ix]| v
11. 0
-7 | -56 -10 | -60 -4 | -11
-6 | -48 -8 | -48 3| -6 7
12.
1] -8 -4 | -24 2| 1
4 | 32 -1 | -6 8 | 49
7 | 56 10 | 60 9 | 54
Y=Xx8 Y =7xX+(X%-1) Y =6xX-(X-9)
10) X v 11) X Y 12) X Y
-7 | -36 -5 | -270 -7 | -14
-6 | -32 5| 270 -6 | -13
-4 | -24 7 | 378 3| -4
1 -4 8 | 432 6 -1
4 8 9 | 486 8 1
Y =3xX+(X-8) Y =9xX x6 Y =X+(7x-1)
1-10 | 9283 75|67 [58[50] 4233|2517 |
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Identifying Y Intercept (Tables) Name:
Identify the Y intercept for each table. Answers
0 0 0
9 2 0 1
0
2.
D | x )1 x | v x| v
6| 6 10 | -8 6 | -17 3
4 | -4 3|5 4| -9
6 | -6 5 | 7 2| -1 4
7| -7 9 | 11 4 | 23
8 | -8 10 | 12 6 | 31 5
Y =7xX-(Xx8) Y=X+2 Y =4xX+7
6.
7.
8.
4 [ x| v 5 x| v 6) | x| v
-8 | -56 -9 | -90 99 9
-4 | -28 -4 | -40 7|7
3| -21 3] 30 3| 3
2| 14 51 50 3| -3
6 | 42 9 | 90 51|-5
Y =6%X-(Xx-1) Y =2xX+(X%8) Y=-X
NlIx|y 8 x| v x| v
-7 | -56 -10 | -60 4 | -11
-6 | -48 -8 | -48 3| -6
1| -8 -4 | -24 2| -1
4 | 32 1| -6 8 | 49
7 | 56 10 | 60 9 | 54
Y=Xx8 Y =7xX+(Xx-1) Y =6xX-(X-9)
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